
 TM    23801 E. La Palma Ave., Yorba Linda, Ca 92887 Ph. 714.692.8180  Fax. 714.692.5016 
 

www.cobrausa.com 

03/08   TM 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 
 
 

 
*  Cobra recommends you always wear a helmet while riding. Please never operate your motorcycle while under  
 the influence of alcohol and/or drugs. Enjoy the new look of your motorcycle and please ride safely.  

Items Supplied > 

1 – Sissy Bar w/pad 
2 – Brackets 
4 – 8mm x 16mm Button Head Bolts 
2 – 8mm x 30mm Button Head Bolts 
2 – 8mm x 35mm Button Head Bolts 
2 – Long Spacers (Aluminum) 
2 – Short Spacers (Aluminum) 
4 – Flat Washers 

Application(s) > 

YAMAHA: V-STAR 1100 99-09

 

Instruction Manual > 

READ ALL INSTRUCTIONS CAREFULLY AND COMPLETELY BEFORE INSTALLING YOUR NEW SISSY BAR! 
 
1. Remove the two (2) rear bolts on the right fender rail and remove the stock fender rail. CAUTION: remove only 

one side of the mounting bolts at a time to prevent the fender from rotating or falling.  
2. Install the supplied brackets with the bent portion toward the outside (part number inside) using the supplied 

hardware.  Place the long spacer between the fender and bracket in the front and secure using the two (2) 8mm 
x 35mm Button Head Bolts.  Place the short spacer between the fender and bracket in the rear and secure using 
the two (2) 8mm x 30mm Button Head Bolts. Do not fully tighten bolts. Note: V-Star 1100 classic owners, use 
(4) flat washers in place of aluminum spacers  

3. Install the sissy bar to the brackets using the four (4) supplied 8mm x 16mm bolts then tighten all bolts to factory               
specs. 

 

 

 

 

 

 

 02-4740/02-5240/02-5740 Page 1 of 1 

DOCUMENT NO.  0017 REV. B
 

M8 x 35 mm 
 

BRACKET 

M8 x 16 mm 

LONG SPACER 
(5/16 WASHER) 

STOCK FENDER 
RAIL 

PICTURE MAY VARY FROM APPLICATION
M8 x 30 mm 

SHORT SPACER 
(5/16 WASHER) 


